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1. (2 Pts) Which of the following has a AH%= 0 kJ/mol?

A) NO(g) B) CSyl) C) Fe*(ag) D) H.00)

2. (4 Pts) How much heat (kJ) is evolved when 4.50 g of Fe;Os is reacted with excess carbon
monoxide using the equation below? (atomic masses: Fe55.85, O 16.00)
Fe;O3(s) + 3CO(g) — 2Fe(s) + 3 CO2g) AHxn =-24.8 kJ/mol,
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3. (2 Pts) Given 2Al(s) + (3/2)02(g) = ALOs(s), AH°r=-1,670 kJ/mol for ALO; (s).
Determine AH® for the reaction 2A1,03(s) — 4Al(s) + 302(g). i /
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4. (6 Pts) At 25°C, the following heats of reaction are known:

[, 2CIF(g) + O2(g) - CLO(g) + F20(g) AH°nn = 167.4 kJ/mol
<. 2CIFs(g) + 202(g) = CLO(g) + 3F0(g) AH°nn = 341.4 kJ/mol
3. 2Fy(g) + 02(g) = 2F,0(g) AH°nm = —43.4 kJ/mol
At the same temperature, calculate AH°n for the following reaction: ) } 3’* :
Sos \¢ ClIF(g) + Fa(g) — CIF3(g) : A
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More questions on Back.
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5. (3 Pts) Given the specific heat for aluminum is 0.900 J/g-°C, how much heat is released when a 3.8
g sample of Al cools from 450.0°C to 25°C.
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6. (4 Pts) Find the standard enthalpy of formation of ethylene, C,Ha(g), given the following data: heat
of combustion of C2Ha(g) = -1411 kJ/mol; AH°{CO2(g)] = —393.5 kJ/mol; AH°{H,0(l)] =-285.8
kJ/mol. You must first write a balanced chemical equation for the combustion of ethylene. JQ\ —_—
CQLH’-{@ + 30 (q\ \QQLO&:Q} * QH L) a4 AHR;YV:VI.-{“
Cagg st

) 33, &}u I

-~ Hcoctunte
AHoos, = ZHA‘A"‘;(‘V el ZﬂA reccTan
o AL 293, S>+9\(-—gﬁ 1 - EX * 3[O>J

7. (4 Pts) Calculate the amount of heat necessary to raise the tempergure of 135.0 g of water from
50.4°F to 85.0°F. The specific heat of water = 4.134 J/g °C.{ % Pe
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